Best model for HELP_J105105.571+571051.805 at z = 0.54 X2=24.29
OPTx?=27.8 IRY?=25.89 threshold (OPT IR)=12.32 [um]

Stellar attenuated

2 ]
10 s = e Stellar unattenuated
] m —— Dust emission
1 —— AGN emission
101 E m = Model spectrum
E ® Model fluxes
] M oObserved fluxes
— 1004
> ]
€ ]
— -1
X 10 E
=] ]
e ]
-2 |
10 Joy e
1073 3
x ]
50‘1 E
= ] _—— ==f=(Obs-Mod)/Obs
3 ]
S ]
s ]
8 01 e s EEELE L LR L E P T
hat ]
) ]
2 ]
S ]
f_U—l T T T T T T T T
& 10° 10! 102 103 104

Observed wavelength [um]

CiGAL



